
32A
:

Quiz : 11/12/23 (Friday)
-

Midterm : 11/20/23 (Morday)

: Thurs 2-3pm (will be reline if I'm still sick)

*m Review : This weekend
,

will announce by end of

day tomorrow

Reminder : Fill out TA survey by Friday !



Review
rCA) parametrizing a crere &

vector that is

v(t) = rict) rity target to C

a(t) = r"(t) acceleration
-

Verter :Inget
Vector ofri(t)

- ->T(t)
11 ri(+) 11

unit legth (11T1 = 1)

Unit Normal Vector :

-

T(A) is alway orthogar.

vir)= to TC) d

11 TCA) I= 12
= 1

T() .T(t) = 1

Est * (T(t) ·TCH)
=

2
1

- T (A) · TH) + TH) TH)
= 0↓ LN => 2 T'( T(t)

= 0

- =>T'(H) · TCH = 0

-mm)Vector : B(H) = T(H) x NCt

11B1 = 11 T 11 /INI 50
= 1



Curvature :

-

# defined as IE11
* Ford are length

parameterization, the

found TCs)
,
and tha

11 TYs) /I .

k(t) =#-"(t)
1)

11 r (t) 11
3

AtticThm: acti
e

T wit target
[ N

:

rest normal

at, 9N components
a +

=

a . T = Y
-

[ar =

a - N =ma-1a+]
a + T

= ( )r ,
aw = a - a+T = a- ( )r



① At time + = 2
,

a particle has v(2) =(1, 1,1

and a (2) = 1-2, 0 , 23. . Compute the wit

target and unit nurnal rectors at + =2 :

~ (t)
T(t) = ↑(II

IT (2)
,

= 911 , 13
Cart con this ble me

# only have a shylept .

11T(t) /I

SaCH =

a+T+ avN]

an
= a - a+T

at
=

a-T = (-202). )
= -

+ = = 0

= awN =

a

I/all=0+ = 22

N = 2
=
-72, 0 , 2) = I,
252



② For ay were rit)
,

with respect to T
,
N
,
B waters

,

in which direction will v(+) + act) print
?

Describe the direction in farms of TIN ,B rectors)

[a(t) = a+ T + aN]
+ (t) = i
#ast) = AHIIT=(a

+ T + an)
B

0

= Ivill at #T + /rCHI) aw TIN-
= /vCtll an B
-

In direction of Binurmal rector , B .



AmerMultivari . bl Furations :

① limat y= o tit
②xy, m-↑
To show limit DNE

, just
mad

to find two paths where lint is different

X-axis :

=0
: lim
-

= 0
- (x,0)+ (0, r) -

2
+0

Fas
:

vo : +10,0 = 0

lim

#Ha
.

me
In genul , set y=mx: ==(1+m2)

Limit DNE ,
bl it depoods - the slops ·



If it did not depend on m
,
ther livit could still

NOT east
-

ONLY A TEST TO CHECK IF SOMETHING

CDNE f(x,y) = z

I

↓-At


